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B.A. (Hons.) (Part 1) EXAMINATION, 2018
BCONOMICS - | 100133 »

(Micro-Tconomic Theory)
Time Allowed : Three Hours

Maximum marks : 100

Dyt ; N y y
Part-A shall contain question No. 1 consisting of very short answer type (X) (Ten) questions.

The candidate i
. Y Y ' ' | ' *
required to answer each question in 20 words. P

1rt-Bshall contain question No. 2 consiating of (V) (five) questions.

The candidate is requir : on i
and:dnt(’lzs required to answer each question in. 100 words. Part-C shall contain 3 essay type questions (one
from each section) with internal choice.

w'm—s;%.mmq B (X) (T9) 3y g F g7 & YoF JvT & I TN 20 T o 3 2 um-a F gvg
w&T-2 H (V) (99) 799 &1 5RF 599 7 IT ST 100 i) o &1 andfar &1 sirr-@ W 7 Fraviens 599 (5w
48 TF) TaRF fFFey & @iy &) |

Attempt Five questions in all. All questions of Part-A and Part-B are compulsory while rest 3 questions are to be
attempted from Part-C selecting one question from each section. All questions carry equal marks.

97737 F 9-9 & g4 g9 Afyard & el TIF TUS & Tk J F] 777 0 §Y, MT-T @ 9 17 797 76 FHAT )
TS 799 & 7 qaE &)
Write your roll number on question paper before start writing answers of questions.

J¥ & S fora & Yd J99-99 W AT TR 399 fored |

PART - A/ 9T - A

1. 6] The word “Economics” is originated from which words ? 10x2=20
‘e W i Seaf oA vl A g R 2
(11)  Define “Equivalent Variation”. “y
“‘gaqeq uftada'" 1 uftnfua ifeg ) '

(11 What do you mean by “Saturation Point” ?

g g A TR 7 | )

,\% Define “Engel Curve”. i
“tifse 3! &1 afearfod wifse ) \ ‘

/What 18 the “Kinked DD curve” ? 2\

' fag;faa win o @41 & 2 =

(vi) What are the conditions of Third degree Price Discrimination?

fg feti & @iad fasidia &1 vd aded | (

Define Long-run Average Cost Curve.

EefepretiA aira @nrd o &1 it i "
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(viii) Who has given the Monopoly theory of Profits ?

/
(ix) Define VMP \
vMp & ufosnfaa #ifam
(x) What do vou mean by Laquidity Trap™ ?

g A A 3 w0 AvEd &

PART -B/vm - &
5x4=20

i i od.
2 4 Differentiate between change in Demand and change in the quantity demanded.
ot & md7 ufidas vA qtf w amn g 27 AR fiads, ¥ e afar o FHA |
on of Price Effect into Income

Distinguich between Hicks and Slutsky’s method of Decompositi

(1)
: and substitution effect.

: 5 oy HIfTH |
FiTa yUE F) 3F @Wuwﬁﬁmmtmmmﬁuﬁmﬁ
: ical axis and
Prove that MR Curve of a Monopoly firm divides the distance between the vertical axi8

(1)
AR Curve into two equal parts.

mmﬁﬁmumwdwmmmmsdaaqﬁaﬁmmaﬁ%mﬁqﬂﬁaw

/v & e 2
\/(1\) Differentiate between Pure and Perfect competition. /
I ——Te T3 yv et # faig Fif) |
¢/ Explain factor pricing. when there is Monopoly (Imperfect Competition) in Product Market
and Perfect Competition in Labour (Factor Market).

/.
A1 FTa Feiro 1 T Fifen, afs ST aISR 8 THTuER (3Tqel wfeEifian) o wreE Ssr 3 gl
iseuucikall
PART-C /4T - |

SECTION -A/@US - A
Decompose Price Effect into Substitution and Income Effect using Hicks approach (Explain with the 20

help of suitable diagrams).

fzaaafrfafuanaummgq#mauwaﬁuﬁww@mumaﬁﬁmﬂﬁﬁq(quaaf‘asﬁéaqu

A me Ffsu ) |
OR / 3tYgar

Explain the Methods of Measurement of Price elasticity of demand

()
A7 %] F1Hd 71 @1 1 & fafudil & avid #ifg
(i)  Explain the laws propounded by Gossen.

Mg gr1 gfamfed faami &1 faggd #ifsm
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o,

SECTION - B / @UZ - &

* \M i 1 t leinr I L ts. 10+10=20
Describe 1aw g bauan +10=

(i)/ Explain Maximization of output subject to given cost.
AT ¥ fET g A W Iaure stfusmansn # T Hife |

OR / argqan

@) Explain the law of variable proportion. Which stage is the actual stage of production ? Explain
with the help of diagram.

wRadeier suEl & Frm ) foaega e Ierea it awafas st SA- seen wed §?
foa wfea T Fifsw)

@) Does there is a absence of supply Curve under Monopoly ? Explain it.

T THITUHR F 3iaia gfd oo eTufeea S 82 o &ifsg)

SECTION -C/@Us - |

5. Explain the Concept of Quasi Rent with the help of suitable diagram. 20

ST ST I STTHRON &1, I9g Tod & Ao § e Hifs |

OR / AT
Write a short note on the following :
Frefeiam R e feomh firfa E v
Q) Loanable Fund Theory of Interest /7/ s
@) Marginal Productivity Theory of distribution ( /

feraor =1 Hid Scrgehal FaErd e
-o00o0-
3
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B.A. (Hons.) (Part Ty EXAMINATION, 2013
ECONOMICS . 1v
(Indian Beonomy - 1) 100141

Time Allowed : Three

Hours

aximum Marksg - 100
Part-A shall contain question No. ] consisti

answer each question in 20 words.
candidate is required to answer each
each section) with internal choice.
WT-37 & Y97 9&7-1 X) (39) sify
-2 (V) (V) 797 &1 e gor
7R TF) STRF fFew F @y &)

THRI % 97 &1 Yehw W & 9 e 20 VR 3 &1 sy

1 ST ETTHT 100 I5) 7 37 ardferg & envr—wﬁa?vﬁa‘mm(m@vg

F 99 T ¥ I o) WFT-31 § 9IT-§ 3 g4t 397 Afrard & mm@vgﬁ#wmwwmm
-9 G 99 @7 J97-57 BT G4t 7o & o7 ga &

Write your roll number on question paper before start writing answers of questions.

T¥ T & SR 7@ B g 599 99 W AT 7w 37999 fored |

PART - A/ ¥ - &
| Answer the following questions :
Frefafad g & s e
/(1) Define Demographic Dividend.
SHifReht Y sl RwIfYa s

(13 What is National Health Mission ?

@y JfaE g ?

A

Write names of three schemes of the government for Elementary and Secondary Education in

India.

g T yrftys i areafaes faen @ awefud @1 T whml & T fed )

(iv) » What are the major food-based safety nets of the government to tackle food security problem
/ in India ?

YT TR BRI STOAT 7T Tl ST G et - A E?
(v)/ Give four problems associated with RRBs in India.

R s et ST Y Qs =R e S|

P.T.O.
1
208-1V
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in agriculture.
fita of cooperative marketing in ag
“Give four benefits «

(vi)
/Wﬁmwmq#wm“133“f‘

—

S5 )
i biligation ?
d understand by macroeconomic sta
What do vou § A

vii)
| danfeta frerftmm A 3 w0 e ¥ )
/(vm) Write four obectives of National Manufacturing Policy, 2011
2011 #} et fafaafm Ay ¥ 3¢ s Ren mand
(x)  What are the components of foreign capital ?
faeef 45 ¥ w0 T EuER ¥
(x) Give four flaws 1n the Indian Public Distribution System.

Wﬁuﬁaﬁ;ﬁmmwnﬁﬁﬁmmﬁ:ﬁmq’l

PART-B/ym - &

Anewer the following questions in 100 words.

%W?W]Oﬂmﬁﬁml

(1)

‘/m’ )

(Y
-

63%

(\'/

w/\’K'hal were the main features of the New Industrial Policy, 1991 ?
1991 % =% ST 3 %1 T Farstnd e o 2

Explain the role played by public sector in the Indian Economy.

WTTETY aéwanmﬁwmhméﬁaﬁ\gfqmaﬁmsql

Discuss briefly the need for agricultural price policy in India.
R 38 w1 ifa = FATTED F1 Hferq § vy

Discuss the problems of the electricity sectop in India.

%#faqamaﬁnumm"iaﬁﬁa d

Discuss briefly

PART-C/%{m-“

SECTION - A /gug 5



SELUTION - B /@ug -§

4. Critically evaluate land reforms in India.
WA H yf UR T SIS Jeeiena g 20
OR / 3tvar
Why is second green revolution needed in India ?
e & g R it ) e e § 2 0
SECTION - C/@usg -§

5. Discuss the role of MSME's in the Indian Economy and highlight the major problems related to
them. 10+10
WAy refeaaee | Y Td R Jam #it yfgd s 3R 3 gwifua areneti 1 vamw o6t

OR / Agar
Give an account of the disinvestment programme (experience) in India. 20

WRatg fafaw srsn (ergva) & aR H foamge® == Hifag|

-00o0-
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This question paper contains 3 printed pages.
B.A. (Hons.) (Pt. I)

1208-111 Econ. III

B.A. (Hons.) (Part I) EXAMINATION, 2018
ECONOMICS - 111 100137

(History of Economic Thought)

Roll No. {usq 29

....................

Time Allowed : Three Hours M
aximum marks : 100

Par r~4 shall contain question No. 1 consisting of very short answer type (X) (Ten) questions. The candidate is
ARNG ) I " € ] ) ) ' ' l L
required to answer each question in 20 words. Part-B shall contain question No. 2 consisting of (V) (five) questions

Th. didate s r ) jon t
he candidate is required to answer each question in 100 words. Part-C shall contain 3 essay type questi
(one from each section) with internal choice. o

@-wa%mm-z 7 (X) (39) sifrergada & 5o &1 FF Jv ¥ S e 20 W) A W &1 -7 F 797
F&T-2 A (V) (W) F97 &1 Fed F7 H SR T 100 =) 4 & s7dferd &1 -7 A @ FEIHE T (T A
% 3 TF) ke faweq & A&l

Attempt Five question in all. All questions of Part-A and Part-B are compulsory while rest 3 question are to be
attempted from Part-C selecting one question from each section. All question carry equal marks.

F U'g T & IR Q) 4T-37 T HPT-F F T 7T AP € Fals g% @vE # § TF Jv7 1 997 #d 5%
YPT-T @ 9 7 T 8 o1 T T & 3% TA €1

Write your roll number on question paper before start writing answers of questions.

Tv A & IR R @ I §99 79 W A TR o7y o 1

PART - A/ W1 - A

L. % Popular Book of J.S. Mill. >

o e e 1 A R - E2

(34

(i1 Give two reasons for the rise of Merchantilism ?

SfoRaaTE F 9 33 a1l € HRO A ?

\(y/ What is division of labour ?

o

go-faure F 8 ?

|34

(iv) Who has written ‘Principles of Political Economy’ ?

‘ot sieferaeen  fagr’ frat T &7
(v)/ Define Quasi Rent. 2
SvTE T @ gt i |
(v%)eﬁne Marginal efficiency of capital. 2
N Yot i1 Fra Sedraehan Fl 2?7
P.T.O.

1208-I11 1



(wi) What is effective Demand ?

T gl i el e €2
(viii) What is Trusteeship Theory of Gandhiji ?
N i 7 e fr w2
(ix) Name the categories of knowledge according to Kautilya.
Fifes ¥ aaR g3 ) wr@ed & AW fafaw)
(x)  Write one economic publication of Dr. B.R. Ambedkar.
2T W AT # onfefa FraTen W U Hfa wagd |
PART -B /41T - &
2. (1) Explain the theory of Rent by Ricardo in short.
frwrel w1 o o= wfira o wad |
(i)  Adam Smit’s Theory of Value - Explain.
Tew iy & gea-frafor fagr & guemse )
(1Y Explain Liquidity Trap.
- . Tl ST SR i |
\_//(1:"/‘/) Short note on the concept of Sarvodaya of Gandhiji.
it et F1 Walleg ) STEuRoT H e FR
V) xplain Kautilya’s ideas regarding Taxation.

FIT R Fifeed & forani 5 =men R |

PART-C/¥M-§
SECTION - A / TUE - 37

Explain Malthusian theory of Population and theory of Gult.

mmmmﬁqum_mmmqﬁ% o

Explain the theory of over-production Propounded by Sismongj

OR / 3teqar

Wmmm—m%mﬁmwl

208-111

SECTION - B /@vue - g

10+10

20

20

20



SECTION-C/@us - ¥

5. Examine the economic thoughts of Dr. B.R. Ambedkar. 20
</ & 3TR TSt ¥ W@ A famm i faa= #ifd |
OR / Agar
10+10

Write a short note on any two of the following :

(1) Integral economic policy of D.D. Upadhyay
( " Gandhiji’s views on Swadeshi

3 The Drain Theory of Dada Bhai Naoroji
freferfias & @ el @ W wfea feoo Hfd :
@ . S S Ft TS eI

(@) Tieish % Tt W i faem

3) muﬁﬁﬁmaﬁ%ﬁm@mm

-00o0-
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AMINATION, 2018 100161
CS-11

ds for Economice)

Maximum Marks : 100

rt type X (Ten) questions. The candidate is required to
n question No. 2 consisting of V (five) questions. The
ds. Part-C shall contain 3 essay type questions (one from

TAF T & IR T 20 W A 2 &1 9m-7 % qoq
el 3 &1 STOfRRd & 1 -1 % o P 9 (v e

and Part-B are compulsory while rest 3 questions are to be
ch section. All question carry equal marks.

W SHfrarf &1 mmwﬁ#wmwwmm
78I

it writing answers of questions.

g

- A/ 9T -

' :[&0&_ /2 ) 2
¢ -

X C A 2

P.T.O.



| log343‘_
LW}ﬂ’tha :—————7‘67- l

=g
) ol 1]
AP YR

log 3"3 p -~
m';“'z:l'll V‘l.‘))+ll ( 1)2" <
" & og| —.
2 Og( 1) 3% 125 -
(1) Find three numbers in G.P whoge sum is 14 and whoge prod,

m%aﬁaﬁa#@m'amﬁﬁmﬁwmmmwsm

iclig g

1 A

6 TN
. (x
(Vi) Expang : LE = 2.V) — | )
. 6 '\ e ‘../‘
forem i (f ~ 2y o
2
Lot a = G o
L (viid) = ls 5 and B- 2 5 thenﬁndA'B'.
/ " N
fg A= 23 31 ¢ \ . -
4 5| ™ B=< ) 5] WA B o
. T~ g d
BTry= oz L
v) Vit o - Find PR
= 3
| <
1- 4 d N
y= 2% o dy Fifm \M
1+ 4 dx M !
__,(xr"lntegrate -
x+ 2 )
2 -~ /
AT iy, ¥ ~
x+ 2
- PART~ s ‘:"'\
2. If the demapy funetjqy, ; * e N | L/'/ :!
unity, Hile p =(4‘5x)2, for whay 1 A’
st . . Yalue of the elasticity of demand will be |
/\‘7/—74/ 17 5(4‘536)23““%
N i T S 0
L\//_ W X)=p 9 8and xz;p‘oﬁp -0 . w%wwl
qﬁ»ﬁ:p] 1'7[’20”3 Xy=p 05 " “rinjy he g /
2=p s, 2 Enﬂa . Natuye of commodity.
1208-11 |
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Wd'(5+2x)‘2 G—j

-~ Towm #if . (5+24)~
(xv) K{

mwmwmmuﬁmﬁwm%: L/ I

' g
C=§Q3 = 7Q" +111Q+ 50 T Q= 100_p ~
ﬁrmuafmmmmw

mﬁﬁmmmwmmxaﬁwmaﬁml
/ Obtain the j nverse of Matyiy -

4

12 3 /‘
A=[1 3 5 ,\ q

15 12 S
ﬁﬁ"q’wﬂuﬁaﬁqmﬁﬁq

12 3
A=|1 3 ;5

15 12

e )
PART-C/vmr-g .
SECTION - A /@uzg - 3t
D
' 1)? 1 1 1)2 ‘
3L (1) Solve it : (x+ ;J - 4(x+ ;)(x— ;J == 12(x— ;) 4X5=20
2 2
e o= 3) (==
+ —)—4 Tt —lle— = |-12[x~ 2
& (x x) ( x)( % X
o~
“onan(37) 1) 1
(i)~ If\\ = — then prove thatm = n+1 :
P 33m'2' 27

-2
o on.32(37%) _ (27)"

33m_23

i T

P.T.0.
)8-1T 3



[

/____\@_—_—— b
L/@'J'J}/"S/olve-‘ﬁ_\/f;'Jr\/g -

A S
@A T V-8B

e y g |
o ) |+ logl =1+ 1o
L/(ly), Prove that : Iog( " €

X

firg iforg log(—] + Iog[—yfj + IOE[Z
X

x2
¥z

OR / 31gqar

/7—"""

()  Find the equat%s\of astraight line whose intercept on x - axis is 8 times itg intercep,

. , \
Y - axis and which pa\ssgs through the point (- 1, 3).

@mmmmﬁa\WMx-wwmy-wwmwﬁaﬂ

forgel (-1, 9 8 e

1208 17



e

(ii)

(i)

1208-11

 Prove that Sy, =3 (S, —S,).

1 23 6 3 1
A=14 5 6land B=[2 4 -g
6 =30 38 -6 1

1 2 3 6 3 1 L.‘)
A=|4 5 6/FMB=|2 4 _g '
6 -3 0 3 -6 1
OR / 31gar
ngve’ that : : o 5+10+5=20
. \\ ‘
I 1 1
* 2y 82{=(x-2y) (2y- 82) (32 - x)
x2 4y2 922 N\
mm: \\: 2
\\
1 1 1 , ‘\ >
x 2y 3z|=(x-— 2y) (29 = 82) (32 - 1)
i 4y? 92 | R

A,
N,

If the sum of first n, 2n and 3n terms of an AP is\Sn, Sop S3n respectively.

\‘.
.

qﬁ:@maﬁéwmn 2naan3:111?:‘1Eh'lz?mwwrsIL sznamssnsﬁrfmﬁﬁrqﬁ
=3(Sy,—5,)-

Find the value of the following determipant :

D N =
= Or W
S D

frerfafaa arfrs #1 9o I FIT :

D DO =
= ot W
S B =

P.T.O.



SECTION - C /@vE - ¥

" [(x = 1)(x+ 2) ‘ ﬂ_o .“ _
\Q. A " Differentiate : ¥ ~ \’((217‘_ 71)).(.\' ) / 10+10=20
| (x N(x + 2)
PO AR © \/(z_\» 1)(x — 3)
@)  The total revenue (R) and total cost (C) functions of a firm are given by .
R=30Q - Q2 C=20+4Q - O
Where Q is the output. Find the equilibrium output of the firm. Y,
TF Wi ¥ F@ A (R) an Fa @ (C) wer frafafa @
R=30Q-Q2 C=20+4Q '
e Q IR F A E | H W TAeH ScAEA I HIS ) 20 =28 —Lf
OR / 3at 72 4
N 1 E% o
@  Integrate : |—r—5——dx : B 5+10+5=20
x(x + 1) } \\ \ (
N\ el
@\" \
- > e :
TS HITAT : +M
x(x + 1)
3 N
.3 x* +x—1 AN
(i) Integrate: |— 3 d4x "
(x2 + 2) \\
Y + x—1
e #ifsy ;. |5 4%
(xz + 2)

(iii) Given the production function :
Q=F(L, K) =LK +0.2L2 - 0.8K*

Find the marginal productivities for labour and capital.

Q=F(L, K) =LK +0.2L2 - 0.8K*
gm qen it =1 Tia Il g6 Ffse |

<0 0o -

1208-11 6



